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Answers may be written either in Engli"sh- or in
Hindi; but the same medium should be used

throughout the paper.
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Attempt five questions in all, selecting
at least rwo questions from each Section.
All . questions carry equal marks.
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What are the features of a developing country ‘7 Hov; far
are these features present in India ?
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What do you understand by ‘vicious circle of poi'ertfy’ ?
Give strategies to break this circle.
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Explain the causes of unemployment in India. “There is
no automatic relationship between economic growth and
employment generation. This requires the implementation of
employment policy.” Explain with reference to India. -
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Does economic@ﬁpment affect population growth ? If
yes, then how does this relationship work ?
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Write short notes on any two of the following
(@) Incremental capital output ratio
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(b)) Disguised unemployment as a savings potential
(©0  Economic development
(@)  Social Overhead Capital (SOC) and Directly Productive .

Activities (DPA).
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Section ‘B’
(@vs ‘@)
* What are the sources of agricultural credit in India ? What

are its problems and what are the solutions ?

WA d Y @ e oA ® 2 e gwend

qq GEHEH T OE 2



(3) 14V,
Do you agree wi;h the fagt that Green Revolution ?ad only
a iimited impact on Indian agriculture ? Give rea‘gons for
your answer.
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Discuss recent trends in the balance gﬁymeiﬁ posiﬁon of
India. Do you think that liberaliz€cﬁf Indian economy has
eased the position of bal &c;f paymer_x’; ? ‘
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What are the sources of industrial finance in Indja ?

Evaluate the role of multinational corporations in industrial

investment in Inc:iia.

W S B % w Aw ¥ 2 sfe Faw
i wgud fee Wi geEie wif
' | P."IL".O.



(6) 5717

10.  Write short notes on any fwo of the following :
(@) Objectives of land reforms
(b) Public sector disinvestment
" (¢) The problem of inflation in India

(d)  Foreign Direct Investment (FDI). |
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